REVISIONS
[> NOTES ® [ DATE APPROVAL |
w005 Vi [i71a721 | 1LC
. NON—IMPACT RESISTANT OPTION — .125" jwioos] i [az27721 | TiC
MINMUN DS GLADNG MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
GINZING 15 NOT MEACT REQSTAT AND. DOES
IMP A ANT Al
NOT MEET THE REQUIREMENTS FOR 13 GA HORIZ ANG'-E\
WND—BORNE DEBRIS REGIONS.
N
2, IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM MAY BE DOOR
INSTALLED IN INTERMEDIATE SECTIONS (WITH € |
OR WITHOUT DECORATIVE INSERTS). GLAZING 15 GA MIN HORIZ H
SHALL BE 1/4" POLYCARBONATE. MAXIMUM TRACK
GLAZING DIMENSIONS SHALL BE 11* x 17°, » ﬂ
FASTENED WITH A MINIMUM #8 X 1° SMS: 3X 13 GA CONTINUOUS L |
ALONG THE HORIZONTAL AND 2X ALONG THE WALL ANGLE W .
L Sl = |
3 ALUMINUM FULL VIEW OFTION — ALUMINUM H < i )
CTION MAY REPLACE AN 15 GA MIN VERT —~_ | : < \ / Lo L
ch EX(£ TOP AND BOTTOM PANE.S. TRACK 19 . NIH P e -
RALS AND SHLES OF EXTRUDED ALUMNM Nl HE 9
ALUMINUM . . H H 1
ALLOY 6083—T6 AND .125" MINIMUM DSB 5/16°x1-5/8 i 20 GA CENTER STILE—"| }9)
GLAZING INSTALLED WITH ALUMINUM LAG SCREW AT EACH a s o
RETAINERS IN ORDER TO MEET UNIFORM HOLE LOCATION FOR o H
STATIC DESIGN PRESSURES SHOWN ON THIS WOOD SUBSTRATE. SEE H
DRAWING. AFV GLAZING PANEL SIZE IS SHEET 3 FOR MOUNTING W il 4
sosmua, 9 (MAX). GLAZING IS NOT IMPACT TO OTHER SUBSTRATES. I \,
AND DOES NOT MEET /
REQUIREMENTS. FOR WIND_IBORNE DEBRIS 4 i ;
REGIONS. : " Vi
4. MINIMUM_OF 1° OVERLAP ON BOTH JAMBS 1/4—20x9/16" TRACK H -
REQUIRED TO MEET NEGATIVE DESIGN BOLT/S AND 1//14_20 wex  THIISL . 1 0]
PRESSURES. NUT AT EACH TRACK oMyl H D i
CLIP LOCATION HIE— H
5. SUDE LOCK OR OPERATOR REQUIRED. (SEE DETAIL A SHEET 3) égncénvdgoo FILLED T o,
6. SECTION STEEL TO HAVE THE FOLLOWING _/ ™"
R T 11 GA TRACK CLIPS H 7 —
427, 429 — 24 GA (WELDED, BOLTED, OR i —LRb
434, 436 — 25 GA RIVETED TO WALL b o J
7. THE DESIGN OF THE SUPFORTING ANGLE) SEE NOTE. B AND H =
STRUCTURAL ELEMENTS THE DETALL F SHEET 3 H
RESPONSIBLITY OF THE PROFESSIONAL OF sube Lock oNE ENo— I ]I |
RECORD FOR THE BULDING OF STRUCTURE. (NOT REQUIRED WITH 1 0]
Al A - H J
ODDES FOR THE: LOADS LISTED ON. THIS OPERATOR — SEE NOTE 5) " IH { i
DRAWING. H R
8. TRACK CLIPS SHALL BE LOCATED WITH ke’
CENTERLINE OF BOTTOM CLIP SPACED 10” H
MAX FROM BOTTOM OF TRACK AND REMAINING i
TRACK CLIPS SPACED AT 24" 0.C. MAX. i 18
SPACING BETWEEN TOP TRACK CLIP AND o L
SPLICE PLATE SHALL BE 30" O.C. MAX. > <’
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO i
BE_MINIMUM 2x8 STRUCTURAL GRADE LUMBER. H
REFER TO JAMB CONNECTION SUPPLEMENT H & |
E%UQEQ‘E:HMWT TO SUPPORTING NOTE.  (4) SECTION SOLID DOOR . H jo.
. SHOWN. SEE SHEET 2 FOR U—BAR otlll § H
LOCATIONS ON DOORS WITH OTHER H ﬁ § °
SUPERIMPOSED DESIGN PRESSURE SECTION QUANTITIES AND SEE NOTES (] o
1, 2 & 3 OF THIS SHEET FOR GLAZING : H ;
LOADS ON SUPPORTING STRUCTURE OPTIONS. W H
Ll H N\,
MAX | DOOR | MAX UNIFORM LOAD EACH JAMB i T TRk
WioT | HEIGHT (PLF) L
12—2"| AL +192.2/-215.4 =
Q\\\\\\

STATIC PRESSURE RATINGS

APPROVED SIZES

MAX WIDTH: 12'-2"

DESIGN PRESSURE(PSF): +31.6/—35.4

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

8

7 I

133174

®egeece® N
S\S/ONAL €‘“‘c3-'

N

Digitally signed by
John Christian
Voelkel

Date:2021.05.03  4e poORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

10:36:23 -05'00"

OTHER INFORMATION
N.]NVHI.E[R]NPART,HAYNDTEGBPIEIIINMNWIER[R

REF DWG

mmmmnu’wmmmmmumnsmum
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

COMPANIES.
AND INFORMATION TISCLOSED TO cmﬂ:mnuu ] nm.usun: OF
ANY [F THIS DRAVING [R INFORMATIIN NTDMDTD[PERATEASALM!SE[RMHHIR]ZATWNTDLISEHFIRMNHIPBEV'IHMTHESPEW'CVW OF_DVERHEAD DOOR CORPDRATION.
DATE DRAWING
VHOLE 1 TNDLOAD,DPTION CODE. 2125
NUMBERS! T CLARK 1/14/21 s%zs/&q%qavm
v wa vies |VER 500 +008/-003 | $ag [y oF o TAN vera  fem——
Boiie 4 A 00 + o | MEASIRE OVED B Nes D- 411792
USED N ANGLES: & 5° EA T CLARK 4/27/21 fews  N/A | sexr] of 3



chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP.

(12) SECTION DOORS WITH:
(18) 3" 18 GA 80 KSI U—-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(17) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(15) 3" 18 GA 80 KSI U—-BARS
LOCATED AS SHOWN

12 GA COMMERCIAL TOP FRAME  /
BRACKET WTH 13 GA ROLLER
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

(9) SECTION DOORS WITH
(14) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

ADD (2) 1 /+—14-x7/8 SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE

2" STEEL ROLLER WITH E
5-1/8" STEM AND 7/16" rd.
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX :
BETWEEN PUSHNUT AND |
BRACKET OR HINGE 3

13 GA WIDE BODY END \
HINGES EACH ATTACHED -

WTH (4) 1/8-17/8" SELF - =
DRILLING CRIMPTITE' SCRE) (6) SECTION DOORS WITH
DETAL C (9) 3 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(12) 3* 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(1) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

o —
= - = =5 s:?a)nfp/11417£14sxgk/8 SELF DRILLING (5) SECTION DOORS WITH
\ (8) 3" 18 GA B0 KSI U-BARS
HALF HINGE LOCATED AS SHOWN
14 GA WIDE BODY -
INTERMEDIATE HINGE ; (@) 14 x 12 o
ATTACHED WTH (4) J 1/4" FLANGE NUTS (4) SECTION DOORS WITH
1/4—14x7/8" SELF - (6) 3° 18 GA 80 KSI U—BARS
DRILLING CRIMPTITE = ~— LOCATED AS SHOWN
SCREWS SOLID SECTION AFV SECTION
DETAL D

ATTACH U—-BARS WITH
(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.
12 GA BOTTOM BRACKET

ATTACHED WTH (3) \ e
1/4—14x7/8" SELF DRILLING [ :
CRIMPTITE SCREWS (2 THROUGH H
STRUT AND BRACKET)
OLTEM,
.
R
®e .'
.l. * ’
o TPEMVWMBALLDTIERM \TIDN CONT/ HE CONFIDENTIAL AND PROPRIETARY Wﬂrwmtmmunmmumrrsm.mmm
'* ' AND INFDRMATIDI N.IIIVHII.EIII!]NPART,HAYNDTE(‘.BPIEIIINWWIERRMMTDMMWMMTEPRHRWWEM MAHDM mnm.uwn:u-'
STATIC PRESSURE RATINGS APPROVED SIZES ;,,,.,,,,,,,,,,,""",,""",‘ ANY OF THIS IRAVING DR INFORMAT nnmznmw:m:ns:\:mmmmmuT‘Emn‘ﬁﬂms:mnnm:spmrvm‘:‘?m I‘NERH DOOR_CORPORATION.
: 12'-2" N iy SOEVE [T | DAI'I OPTION CODE 2025
DESIGN PRESSURE(PSF): +31.6/35.4 [MaX WIDTH: 122" A J. C. VOELKEL Sy R B | ez o Vi e oo,
MAX HEIGHT: 24'—1 TR SERIAN v8/21
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 241 N/A = B D- 411792
T CLARK 4/27/21 fbos N/A | s o 3
8 7 | 2 1

‘\fslai\'l.l;«.\: €“ --


chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

EBOXX MIN.

TRACK CLIP

1/4—-20x9 /16"
TRACK BOLT AND
1/4—20 HEX NUF

TRACK

OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
LIEU OF WELDING

MOUNTING TO STEEL DETAIL

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5"X20"

RUBBER FRAME GASKET
(NON—INSULATED DOORS)

BUTYL TAPE 1/4* SNAPBEAD

LOVER INT. RAIL

JOINT SEAL

BUTYL TAPE

/-e;g;,ﬁ,ﬂgg; pa

PLASTIC FRAME
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

3/8° SMPSON TITEN HD,
SE‘J/Q' MIN EMBED INTO

LOCAT
MOUNTING WALL ANGLE-
TRACK GUP
(2) 1/4-20x0 /16"
TRACK BOLT AND
1/4~20 HEX NUT-
TRACK
CONCRETE MOUNTING DETAIL — ANGLE QUT CONCRETE MOUNTING DETAIL — ANGLE IN
CONTINUOUS R
WALL ANGLE TRACK \ I /
/ .'\ . K MN 3/15' THICK

@1 /4_ X 716/ i Ky -, //_1 /4 POLYCARBONATE uouunuc WALL ANGLE 2-24 Heonx u.

SEMI TUBULAR i Ny L e

RIVITS OR (2) | ; Rt - CPTIONAL: WALL ANGLE MAY BE ATTACHED TO

1/4"220 TRACK } j IMPACT WINDOW / AIUMINUM FRAME WITH GROOVED POLYCARBONATE Y420 SUPPORTIG STERL WTH e (1) 1/4-207/2

BOLTS WMTH NUTS\' 1/4-20 HEX NU' %Tﬂ":ﬂ PAIR o‘:r"r':u.z an:mms W

OR (2) .28 DIA TRACK TRACK UEY OF WELDING

RESISTANCE SPOT cup MDUNTING TD STEEL DETAL

WELDS

DETAIL F
’ . TPEMVMMBALLDTIERM \TIDN CONT/ AND PROPRIETARY PROPERTY OF OVERHEAD DODR CORPORATIDN AND ITS AFFILIATED COMPANIES.
4 J. C. VOELKEL v OF TS Do O BETRATIN 1 %’&Tﬁ%&‘.‘s’"‘ NG DR AUTHIRIZATIIN 10 USE TF R ol PURFOSE. m“‘nnwm Pt e i R+ .
STATIC PRESSURE RATINGS APPROVED SIZES /A = T A R N S e
+ » — |WINDLDAD, 2025
DESIGN PRESSURE(PSF): +31.6/—35.4 mi HME[:;:T 1:4_,21, "' '“..'""'""' '“""“"_"“I - CI'.:\RK /14721 53?”%2@/4291434/%
: - . ° J QIAN 178721
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24 ' 'g)'. 133174 o 5 P A— e B D- 411792
' o o TR T CLARK | 42772l |o—WA  [s=3 o 3
' (ONZ </ C EN s@ o e -~
8 7 | W N 1

"o e
A TRt o



chris
Texas


		2021-05-03T10:36:23-0500
	John Christian Voelkel




